Solutions => Solving Exp. Eq/Rat. Exp/Exp. Law

1.
$$(u^{-2}v^3 \cdot u^{-1}v^{-4})^4$$
 2. $(2x^{-2} \cdot (y^2)^2)^6$

= $(u^{-3}v^{-1})^4$ = $(2x^{-2}y^4)^6$

= $u^{-12}v^{-4}$ = 1

3. $(2uv^{-2} \cdot 2vu^2)^{-2}$ 4. $(x^4)^3 \cdot 2x^{-1}$

= $(4u^3v^{-1})^2$ = $x^{12} \cdot 2x^{-1}$

= $(4u^3v^{-1})^2$ = $2x^{11}$

= $(4u^3v^{-1})^2$ = $2x^{11}$

5.
$$\frac{(2x^{2})^{-1}}{2yx^{-3} \cdot 2y^{3}}$$

$$= \frac{(2)^{-1}x^{-2}}{4x^{-3}y^{4}}$$

$$= \frac{1x^{3}}{(2)(4)x^{2}y^{4}}$$

$$= \frac{1x^{3}}{8x^{2}y^{4}}$$

$$= \frac{1x}{8y^{4}}$$

$$6. \frac{2u^{-2}v^{4} \cdot 2u^{3}v^{4}}{(uv^{4})^{-2}}$$

$$= \frac{4u^{1}v^{8}}{u^{-2}v^{-8}}$$

$$= 4u^{1}u^{2}v^{8}v^{8}$$

$$= 4u^{3}v^{16}$$

$$7. \frac{2b^{4}}{a^{4}b^{-4} \cdot (a^{2}b^{-2})^{-4}} = \frac{2b^{4}}{a^{4}b^{-4} \cdot a^{-8}b^{8}} = \frac{(4x^{2}y')^{-1}}{2x^{-4}y^{\circ}}$$

$$= \frac{2b^{4}}{a^{4}b^{4} \cdot a^{-8}b^{8}} = \frac{(2x^{2}x^{4}y')^{-1}}{2x^{-4}y^{\circ}}$$

$$= \frac{2b^{4}}{a^{-4}b^{4}} = \frac{(2x^{2}x^{4}y')^{-1}}{2x^{6}y}$$

$$= \frac{2a^{4}b^{4}}{b^{4}} = \frac{1}{2x^{6}y}$$

$$\begin{array}{lll}
Q. & \left(\frac{\chi y^{-2}}{x^{-2} y^{-3} / 2}, y^{\circ}\right)^{\frac{1}{3}} & \left(\frac{2}{3}\right)^{\circ} & \frac{7}{4} \\
& = \left(\frac{\chi y^{-2}}{x^{-2} y^{-3} / 2}\right)^{\frac{1}{3}} & = \left(\frac{1}{\alpha^{2} b^{\circ}}\right)^{\frac{7}{4}} \\
& = \left(\frac{\chi \chi^{2}}{y^{2} y^{-3} / 2}\right)^{\frac{1}{3}} & = \left(\frac{1}{\alpha^{11} / 4}\right)^{\frac{7}{4} / 4} \\
& = \left(\frac{\chi^{3}}{y^{-7} / 2}\right)^{\frac{1}{3}} & = \left(\frac{1}{\alpha^{11} / 4}\right)^{\frac{7}{4} / 4} \\
& = \frac{1}{\alpha^{11} / 4} \\
& = \frac{1}{\alpha^{11}$$

11.
$$4^{-2x-2}$$
 4^{-2x-2}
 2^{-2x-2}
 2^{-3x-3}
 2^{-3x-3}
 2^{-3x-3}
 2^{-3x-3}
 2^{-3x-3}
 2^{-3x-3}
 2^{-3x-2}
 2^{-3x-2}

17.
$$2^{-3m} = 2^{-m}$$
 $3^{x-2} = 27^{2x}$
 $-3m = 2-m$
 $-3m+m=2$
 $-2m=2$
 $-2m$

21.
$$\frac{64^{-2p}}{16^{3-3p}} = 16$$

$$\frac{(2^{6})^{-2p}}{(2^{4})^{3-3p}} = 2^{4}$$

$$\frac{(2^{4})^{3-3p}}{2^{-12p}} = 2^{4}$$

$$\frac{2^{-12p}}{2^{-12p-(12-12p)}} = 2^{4}$$

$$\frac{2^{-12p-(12-12p)}}{2^{-12p-12+12p}} = 2^{4}$$
NO SOLUTION?

23
$$\left(\frac{1}{8}\right)^{3n+1} \cdot 8^{2} = \left(\frac{1}{64}\right)^{2n-3}$$
 $\left(\frac{1}{3}\right)^{3n+1} \cdot \left(2^{3}\right)^{2} = \left(\frac{1}{2^{6}}\right)^{2n-3}$
 $\left(\frac{1}{2^{3}}\right)^{3n+1} \cdot 2^{6} = \left(2^{-6}\right)^{2n-3}$
 $\left(2^{-3}\right)^{3n+1} \cdot 2^{6} = \left(2^{-6}\right)^{2n-3}$
 $\left(6^{-1}\right)^{-n} \cdot \left(\frac{1}{3^{6}}\right)^{2n+3} = 6^{\circ}$
 $\left(2^{-3}\right)^{3n+1} \cdot 2^{6} = \left(2^{-6}\right)^{2n-3}$
 $\left(6^{-1}\right)^{-n} \cdot \left(\frac{1}{3^{6}}\right)^{2n+3} = 6^{\circ}$
 $\left(6^{-1}\right)^{-n} \cdot \left(\frac{1}{6^{2}}\right)^{2n+3} = 6^{\circ}$
 $\left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{-n} \cdot \left(\frac{1}{6^{2}}\right)^{2n+3} = 6^{\circ}$
 $\left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{2n+3} = 6^{\circ}$
 $\left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{2n+3} = 6^{\circ}$
 $\left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{2n+3} = 6^{\circ}$
 $\left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{2n+3} = 6^{\circ}$
 $\left(6^{-1}\right)^{-n} \cdot \left(6^{-1}\right)^{-n} \cdot$